ST/STC B A/ =M= AT F 2 &K HALR S

B (A) BE L (V)
iRl % B T % IERER il
(KW) B B FFER R IR FFBR (cos ©) (r/min)
ST -2 ) 8.7 17.4
ST -3 3 13 2
ST -5 5 21.7 43.5
ST -7.5 7.5 32.6 65.2
230 115 1.0 500
ST -10 10 43.5 87
ST -12 12 52.2 104.4 < )
ST -15 15 65.2 130.4 Py
ST -20 20 87 174
2 wHHIE FHIE B 5E IR ERE B F 1
(Kw) (KVA) (A) (cos ) (r/min)
STC-3 3 3.8 5.
STC-5 5 63
STC-7.5 75 904 .
STC-10 10 125 18.1
STC-12 12 15 217
STC-15 5 271 0.8 1500
STC-20 20 36.1
STC-24 24 30 43.4
STC-30 30 37.5 54.1
STC-40 50 72.2
STC-50 62.5 90.2

ST/STC




